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$$ \text{dp}(i,p)\gets\min(\text{dp}(i-1,p),\min(\text{dp}(i-1,p-b_i\sim p-a_i))+c_i) $$

0000000000000 d $0(np)s0

const int MAXN=1e3+5,MAXP=1e4+5,Inf=2e9+5:
int a/MAXN|,b/MAXN|,c/MAXN!,dp MAXP | ,que[MAXP];
int main

int T=read _int();
T--
int n=read int(),p=read int();
_for(i,0,n)alil=read int();
_for(i,0,n)blil=read int();
_for(i,0,n)clil=read int();
int pos=0;
_rep(i,0,p)dplpos| | i/=Inf;
dplpos =0;
_for(i,0,n
pos=!pos;
int head=0,tail=-1;
_rep(j,0,p
dplpos|iji=dpltpos|i]j!;
head<=tail&&que|head|<j-bli])head++;
j-alil>=
head<=tail&&dp| 'pos | [queltail| |>=dp|!pos||j-
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ali tail--;
que++taill=j-alil;

head<=tail
dplpos! jl=min(dplpos![j|,dp!!pos![quelhead]|+cli]);

dp/pos! | p/==Inf
puts ("IMPOSSIBLE!!!"

enter(dp/pos!p!);

0;
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